MATINF1100 - dag 8

Denne uken:
« Tekst og andre karakterer 4.3-4.5
« Aritmetikk pa datamaskin: 5.1-5.4



32-bits flyttall - IEEE 754

Binger normalform: a=b * 2" der
* b er et 23 bits brgktall 1/2 <=|b| < 1
e ner et 8bits heltall -127<=n<=128

sign exponent (8 bits) fraction (23 bits)
| [ I 1

oJof1|{1|1|1|1|{o]o]o|1{0|0|0|0f0|0O|0OJOfO|O|OJOfO{O|O|OfO|OOfOfO| = 0.15625
31 30 2322 (bit index) 0
The real value assumed by a given 32 bit binary32 data with a given biased exponent e (the 8 bit unsigned integer) and a 23 bit fraction is

23
— (_1)Sig“(1_b22b21 .bo)a X 2¢—127 where more precisely we have value = (—I)Sig" (1 + Z b23_,-2-'> x le—127)
i=1

In this example:
. sign =0
23 '
o1 + Z b23_,‘2_a =1 + 2_2 - 125

1=1
. 2(6—127) — 2124—127 — 2—3

thus:

- value = 1.25 x 272 = 0.15625
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